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QUESTION 1

Which three command-line interface commands should a NetScaler Engineer execute to configure an authentication
virtual server? (Choose three.) 

A. add authentication vserver ssl  

B. bind ssl certkey 

C. set authentication vserver -authenticationDomain 

D. show authentication vserver  

E. add ssl certkey 

Correct Answer: ABC 

 

QUESTION 2

Scenario: A NetScaler Engineer is viewing Authentication, Authorization and Access (AAA) events on the NetScaler
appliance to determine why a user is unable to log on. The events below have been logged during this timeframe: 

Fri Oct 17 18:17:16 2014 /usr/home/build/rs_80_48/usr.src/usr.bin/nsaaad/../../netscaler/aaad/ldap_drv.c[40\]:
start_ldap_auth attempting to 

auth scottli @ 10.12.33.216 Fri Oct 17 18:17:18 2014
/usr/home/build/rs_80_48/usr.src/usr.bin/nsaaad/../../netscaler/aaad/ldap_drv.c[291\]: 

recieve_ldap_bind_event receive ldap bind event Fri Oct 17 18:17:18 2014
/usr/home/build/rs_80_48/usr.src/usr.bin/nsaaad/../../netscaler/aaad/ldap_drv.c[326\]: recieve_ldap_bind_event
ldap_bind with binddn bindpw failed:Invalid credentials Fri Oct 17 

18:17:18 2014 /usr/home/build/rs_80_48/usr.src/usr.bin/nsaaad/../../netscaler/aaad/ naaad.c[1198\]: send_reject
sending reject to kernel for : scottli 

What is the root cause of this issue? 

A. The LDAP Base DN is incorrect. 

B. The Bind DN credentials are invalid. 

C. The LDAP server is NOT responding. 

D. The user has entered an invalid password. 

Correct Answer: B 

 

QUESTION 3

Scenario: A network engineer has bound four policies to an HTTP virtual server as follows: PolicyA is bound with a
priority of 10 and has the following expression: REQ.IP.SOURCEIP == 10.10.10.0 PolicyB is bound with a priority of 15
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and has the following expression: REQ.IP.SOURCEIP != 10.10.11.0 PolicyC is bound with a priority of 20 and has the
following expression: REQ.IP.SOURCEIP == 10.10.12.0 

PolicyD is bound with a priority of 25 and has the following expression: REQ.IP.SOURCEIP != 10.10.13.0 When a
connection is made from a PC with an IP address of 10.10.12.15, which policy will be applied? 

A. PolicyA 

B. PolicyB 

C. PolicyC 

D. PolicyD 

Correct Answer: B 

Don\\'t be fooled by this as the first policy to match will be used, in this case 10.10.12.15 is not 10.10.11.0 hence it
satisfies PolicyB. 

 

QUESTION 4

In which two places could a NetScaler Engineer enable TCP Buffering? (Choose two.) 

A. Service 

B. Globally 

C. HTTP profile 

D. Virtual server 

Correct Answer: AB 

 

QUESTION 5

An engineer has configured a DNS virtual server on a NetScaler appliance but the monitors are showing DOWN and
DNS resolution is failing. 

Which of the following should the engineer check? 

A. Port 53 between the VIP address and the DNS servers is allowed 

B. That a ADNS_TCP service has been configured on the NetScaler 

C. That the load balancing feature has been enabled on the NetScaler 

D. Port 53 between the NSIP address and the DNS servers is allowed 

E. Port 53 between the SNIP address and the DNS servers is allowed 

Correct Answer: E 
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QUESTION 6

During a recent security penetration test, several ports on the management address were 

identified as providing unsecured services. 

Which two methods could the network engineer use to restrict these services? (Choose two.) 

A. Configure Auditing policies. 

B. Create Content Filtering policies. 

C. Create Access Control Lists (ACLs). 

D. Configure options on the Management IP addresses. 

Correct Answer: CD 

 

QUESTION 7

Scenario: When the NetScaler was set up, compression was enabled. The network engineer would like to disable
compression ONLY for a particular virtual server. 

How could the engineer accomplish this? 

A. Uncheck Compression in the system basic features. 

B. Create a policy with a NOCOMPRESS action, bound to the global request point. 

C. Disable compression on the services or service groups bound to the virtual server. 

D. Create a policy with a NOCOMPRESS action, bound the virtual server Compression (request) point. 

Correct Answer: C 
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QUESTION 8

Company policy states that all passwords should travel the network in encrypted packets except SNMP. 

Which command should the network engineer execute to comply with this policy? 

A. set ns ip 10.20.30.40 -ssh disabled -telnet disabled -gui enabled 

B. set ns ip 10.20.30.40 -telnet disabled -gui secureonly -ftp disabled 

C. set ns ip 10.20.30.40 -mgmtaccess disabled -restrictaccess enabled 

D. set ns ip 10.20.30.40 -gui secureonly -ssh enabled -restrictaccess enabled 

Correct Answer: B 

 

QUESTION 9

A company has a new CEO and wants to update their website with the new CEO\\'s name. What could the engineer do
on the website while this modification is being made? 

A. Insert the new name on the header requests using Rewrite policies. 
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B. Hide the current name on the header request using Rewrite policies. 

C. Delete the current name on the body response using Rewrite policies. 

D. Replace the current name on the body response using Rewrite policies. 

Correct Answer: D 

 

QUESTION 10

A network engineer needs to configure load balancing for an FTP site. 

Which type of session persistence method can the engineer select for this scenario? 

A. Rule 

B. Source IP 

C. Cookie Insert 

D. Custom Server ID 

Correct Answer: B 

 

QUESTION 11

Which built-in TCP profile should a NetScaler Engineer choose to optimize backend server connections, where the
servers reside on the same LAN as the appliance? 

A. nstcp_default_tcp_lfp 

B. nstcp_default_tcp_lnp 

C. nstcp_default_tcp_lan 

D. nstcp_default_profile 

Correct Answer: C 

 

QUESTION 12

A public SSL certificate on a virtual server is about to expire and the NetScaler engineer needs to renew the certificate
before it expires. 

Which step must the engineer take to renew the SSL Certificate? 

A. Generate a new CSR 

B. Recreate the Private Keys 

C. Execute CRL Management 
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D. Update the existing certificate 

Correct Answer: D 

 

QUESTION 13

Which NetScaler caching type requires proxy configuration on all client devices? 

A. SOCKS 

B. REVERSE 

C. FORWARD 

D. TRANSPARENT 

Correct Answer: C 

 

QUESTION 14

A network engineer has enabled USIP and USNIP and set a unique IP address as the source IP using the 

proxyIP parameter on an INAT policy. 

Which is the correct order of precedence for the IP addresses? 

A. Unique IP-USIP-MIP-Error 

B. USIP-unique IP-USNIP-MIP-Error 

C. USIP-Unique IP-MIP-USNIP-Error 

D. USIP-USNIP-MIP-Unique IP-Error 

Correct Answer: B 

 

QUESTION 15

Scenario: A NetScaler Engineer is configuring a new system with connected interfaces 10/1 - 10/4 and runs the
following commands: 

add ip 10.10.10.1 255.255.255.0 -type snip add vlan 10 bind vlan 10 -ifnum 10/1 On which interface(s) will subnet
10.10.10.1 respond to requests? 

A. Only interface 10/1 

B. Interfaces on VLAN 10 

C. Only interfaces on VLAN 1 

D. Interfaces 10/1 through 10/4 
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Correct Answer: D 
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